
Spiel 1 Spiel 2 Gesamt

14:37 D 01 Temper Sabine 13 + 18 = 31

Temper Manfred 48 + 37 = 85

61 + 55 = 116

D 02 Lehner Anna 25 + 20 = 45

Jakob Erich 34 + 27 = 61

59 + 47 = 106

14:49 D 03 Redl Ulrike 37 + 32 = 69

Redl Karl 43 + 39 = 82

80 + 71 = 151

D 04 Harucksteiner Barbara 39 + 39 = 78

Harucksteiner Thomas 43 + 41 = 84 #

82 + 80 = 162

15:01 D 03 Redl Ulrike 32 + 35 = 67

Redl Karl 34 + 37 = 71

66 + 72 = 138

D 01 Temper Sabine 16 + 17 = 33

Temper Manfred 41 + 39 = 80

57 + 56 = 113

15:13 D 02 Lehner Anna 19 + 22 = 41

Jakob Erich 31 + 36 = 67

50 + 58 = 108

D 04 Harucksteiner Barbara 34 + 33 = 67

Harucksteiner Thomas 36 + 46 = 82

70 + 79 = 149

15:25 D 04 Harucksteiner Barbara 28 + 48 = 76 #

Harucksteiner Thomas 37 + 40 = 77

65 + 88 = 153

D 01 Temper Sabine 30 + 23 = 53

Temper Manfred 35 + 49 = 84

65 + 72 = 137

15:37 D 02 Lehner Anna 28 + 32 = 60

Jakob Erich 39 + 35 = 74

67 + 67 = 134

D 03 Redl Ulrike 42 + 42 = 84

Redl Karl 30 + 39 = 69

72 + 81 = 153


